
IN
S

T
A

LL
A

T
IO

N
 G

U
ID

E

FUEL CADDY

AEV30204AE
Last Updated: 07/25/19

US PATENT: 8,690,033  CHINESE PATENT: ZL 2012 3 0018621



ii

PLEASE READ BEFORE YOU START
To guarantee a quality installation, we recommend reading these instructions thoroughly 
before beginning any work. These instructions assume a certain amount of mechanical 
ability and are not written nor intended for someone not familiar with auto repair.

INCLUDED PARTS QTY REQUIRED TOOLS

Fuel Caddy 1 Common Hand Tools

Fuel Cap 1

Rear Mounting Plate 1

Top Mounting Plate 1

Top Mounting Plate Edge Trim 1

5/16”-18 Button Head Bolt 6

5/16” Flat Washer 6

P Clamp 1

Fir Tree Cable Tie 1

1/2” Threaded Push Nut 3

7/8” Hex Nut 1



1

A M E R I C A N  E X P E D I T I O N  V E H I C L E S

BEFORE YOU BEGIN:
You will first need to disconnect the Tire Carrier turnbuckle linkage from the tailgate bracket so the Tire Car-
rier will swing away from the vehicle.

Remove your spare tire and Tire Mount from your AEV Tire Carrier.

If you have an AEV CHMSL (Center High-Mount Stop Light) you will need to disconnect the wiring and re-
move the light as well (this will be reinstalled).

You are now ready to install your new AEV Fuel Caddy. We recommend using Anti-seize on all fasteners.

1.	 Insert Tire Mount through center hole of Fuel Caddy as shown. (If you are installing an AEV CHMSL, feed 
the wiring over the Tire Mount and through the center hole as well).

optional CHMSL

2.	 Lift Assembly onto the Tire Carrier. Position back plate bracket behind Tire Carrier as shown and secure 
Fuel Caddy with three 5/16”-18x Button Head Bolts and 5/16” washers. Thread the Tire Mount Bolt with 
saftey lock washer through the back of the Tire Carrier to secure.



2

A M E R I C A N  E X P E D I T I O N  V E H I C L E S

3.	 Slide the Edge Trim onto the Fuel Caddy top plate bracket. Position bracket as shown and secure to Fuel 
Caddy with two 5/16”-18 Button Head Bolts and 5/16” washers.

4.	 Position “P” clamp around Tire Carrier tube as shown and secure using one 5/16”-18 Button Head Bolt 
and 5/16” washer.



3

A M E R I C A N  E X P E D I T I O N  V E H I C L E S

5.	 Mount tire to Tire Carrier securing lug nuts. Tighten the tire mount bolt on the back of the Tire Carrier 
until the tire is pulled tight to the Fuel Caddy. Use a hammer and a flat head screwdriver to bend the 
tongues of the safety washer against the head of the bolt. 

Remove tire and tighten the anti-vibration bolt (now accessible through top of Fuel Caddy.) Once it is 
determined that the tire carrier has been installed correctly, use a hammer and a flat head screwdriver to 

bend the tongues of the safety washer against the head of the bolt. 

NOTE: If installing an AEV CHMSL, a FIR TREE cable connector is supplied to secure wiring to the Fuel 
Caddy back plate bracket. Follow the instructions for installing your CHMSL for connecting wiring 
through tailgate.

6.	 Re-attach Turnbuckle Linkage to Tailgate bracket, mount tire to Tire Carrier, and screw on the Fuel 
Caddy ratchet cap.

7.	 Assembling the siphon. Slide siphon hose through the supplied 7/8” hex nut. This will add weight and 
prevent the hose from curling inside Fuel Caddy. Next insert shaker siphon pump into siphon hose. Push 
the hex nut down over the siphon pump.


